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QID : 601 - In the following question, select the related word pair from the given alternatives.

Options:

1) Bus: Vehicle
99 drgd

2) Car:Road
DR . TEh

3) Ship: Sea
STglel | 9fR

4) Train : Rail
IS : gt

Correct Answer: Bus : Vehicle
9 : qigd

QID : 602 - In the following question, select the related word from the given alternatives.
Big : Small : : Solid : ?
frfafea mer & Ry g et & & ¥6fia et &t gfgl

g1 Bler: 39 ?
Options:

1) Metal

g

2) Liquid

el

3) Smoke

g3

4) Cold

LS

Correct Answer: Liquid
el

QID : 603 - In the following question, select the related word from the given alternatives.
Calculator : Calculations : : Scale : ?

feafafEa vy 8 Ry 7y et & @ H6fia 2reg &t gl

SeTeRIFAER UM : : Thed : ?

Options:

1) Inches

E&l

2) Centimeters

3) Measure
HAGET

4) Steel
B

Correct Answer: Measure
HIOAT


http://thepracticetest.in/cs_sscje_18/logout.php?appid=1368062d74107fc05177712c90c3885c

QID : 604 - In the following question, select the related letters from the given alternatives.
MUFT : PXIW : : GONE : ?

fafafEa usy § Ry g faeredt § € defda sreri st gihgl

MUFT : PXIW :: GONE : ?

Options:

1) HMRL

2) JSPA

3) JRQH

4) HQRF

Correct Answer: JRQH

QID : 605 - In the following question, select the related letters from the given alternatives.
PINK:TMRO ::SOLD : ?

frfafead me & g g foeredt # & S&fa s1art &t gfhm)

PINK:TMRO ::SOLD : ?

Options:

1) HQTX

2) WSPH

3) HAQV

4) AQBH

Correct Answer: WSPH

QID : 606 - In the following question, select the related letters from the given alternatives.
SW:VA::LT:?

frfafed me & g g foeredt # & T&fa st &t gfhm)

SW:VA::LT:?

Options:

1) NY

2) LA

3) 0X

4) OL

Correct Answer: OX

QID : 607 - In the following question, select the related number pair from the given alternatives.

Options:
1) 16:259

2) 13:171
3) 14:199

4) 14:195

Correct Answer: 13: 171

QID : 608 - In the following question, select the related number from the given alternatives.
42:105::38:?

fafafea vy 7 Ry 7y et & @ H&fda g « gfagl

42:105::38:?



Options:
1) 111

2) 135
3) 95
4) 83

Correct Answer: No Correct Answer ( Benefit to all )

QID : 609 - In the following question, select the related number from the given alternatives.
24:39::49:?

frfafea mer A fig g feredt A @ Tefda de @t gfg)

24:39::49:?

Options:

1) 68

2) 64

3) 69

4) 79

Correct Answer: 64

QID : 610 - In the following question, select the odd word from the given alternatives.

fafafea vy 7 Ry 7 et & @ v ereg ot gfg)
Options:

1) Liver

gpd

2) Intestine
3

3) Organ
3T

4) Lungs
hthe

Correct Answer: Organ

3T

QID : 611 - In the following question, select the odd word from the given alternatives.

FafafEa us A Ry 7 foeedt 7 @ faww e &t gl

Options:
1) Black
SRl

2) Yellow
dier

3) Rainbow
Uy
4) Pink

Qorrect Answer: Rainbow

eeugy

QID : 612 - In the following question, select the odd word from the given alternatives.

fafafea vy 8 Ry 7y et & @ v e &t gfg)

Options:
1) Arteries
gmfAgt

2) Veins
T4
3) Hand
HEl

4) Bones

Correct Answer: Hand
B

QID : 613 - In the following question, select the odd letters from the given alternatives.

et v F Ry g et & @ fawm srert o0l gfgl



Options:
1) RLF
2) MGA
3) EYR
4) HBV

Correct Answer: EYR

QID : 614 - In the following question, select the odd letters from the given alternatives.

freafafEa uy § Ry g faeredt & € faww sreri ot gig)
Options:

1) IR

2) KP

3) GT

4) oV

Correct Answer: OV

QID : 615 - In the following question, select the odd letters from the given alternatives.

frafafea vy § Ry g faredt & @ faww sieri o0t gfg
Options:

1) XTQMJ

2) FBYUR

3) GCzvVs

4) TPMIE

Correct Answer: TPMIE

QID : 616 - In the following question, select the odd number from the given alternatives.

frafafea ue & Ry g e & & fww dwer 6t gl
Options:

1) 4-21

2) 7-54

3) 6- 41

4) 3-16

Correct Answer: 3 — 16

QID : 617 - In the following question, select the odd number pair from the given alternatives.

feafafEa vy 8 Ry 7g faredt § @ fowm g g &t gl
Options:

1) 11-17

2) 23 -31

3) 43-59

4) 41-47

Correct Answer: 43 — 59

QID : 618 - In the following question, select the odd number pair from the given alternatives.

fafafea vy 7 Ry 7y faweat & @ fvw g g &t gfgl
Options:

1) 12-156

2) 13-182

3) 14-210

4) 15-230

Correct Answer: 15 - 230

QID : 619 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Shocking
2. Shiver

3. Shelter
4. Shorten
5. Shudder

Ffafad wral @t wreaentsr # 3117 arel o & IgER ford|

1. Shocking
2. Shiver

3. Shelter
4. Shorten
5. Shudder



Options:
1) 23145

2) 32145
3) 14523

4) 41523

Correct Answer: 32145

QID : 620 - According to dictionary, which of the following word will come at LAST position?
1. Operation

2. Orderly

3. Openly

4. Opulent

5. Oral

TeEERIT & SR, FffRd 7 § o 1 2reg Sifam @ wR smam?

1. Operation
2. Orderly
3. Openly

4. Opulent
5. Oral

Options:

1) Oral

2) Orderly
3) Opulent
4) Operation

Correct Answer: Orderly

QID : 621 - From the given alternatives, according to dictionary, which word will come at THIRD position?

g 7Tq faehedt & 9, AeGahILT & SR, I T & TR W R HR?

Options:
1) Passage

2) Pastime
3) Patience

4) Pathetic

Correct Answer: Pathetic

QID : 622 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
AGM, FLR, KQW, PVB, ?

e S1ehH foar T 8, Ores § e e g 81 g Ty faenedl # © a8 w8 fadhed g, St srgeRd ot g el

AGM, FLR, KQW, PVB, ?

Options:

1) UAG

2) VLC

3) CGN

4) PNO

Correct Answer: UAG

QID : 623 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
FROM, CNLI, ZJIE, WFFA, ?

e STehH foar T 8, FOred § e Ue g 81 Ry Ty faenedl § © a8 98t fadhed g, St srgeRd ot g el

FROM, CNLI, ZJIE, WFFA, ?



Options:
1) ACNG

2) TCCX
3) TBCW

4) FRIP

Correct Answer: TBCW

QID : 624 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
TRO, PNK, LJG, ?, DBY

Teh S1gehH foar T 8, FOred § e Ue g 81 g Ty Rrened # © a5 98 faehed g, St srgeed ot g el

TRO, PNK, LJG, ?, DBY

Options:

1) FBC

2) FNB

3) FRN

4) HFC

Correct Answer: HFC

QID : 625 - In the following question, select the missing number from the given series.
11,16, 21, 13, 19, 25, 15, 22, 29, ?, 25

feafafea vy 8 Ry 7 et & @ g ofe F1d Siforg

11,16, 21, 13, 19, 25, 15, 22, 29, ?, 25

Options:

1) 18

2) 17

3) 19

4) 21

Correct Answer: 17

QID : 626 - In the following question, select the missing number from the given series.
2112, 2328, 2671, 3183, ?, 4912

Feafafea vy 8 Ry 7 et & @ g sfe 31a Siforg

2112, 2328, 2671, 3183, ?, 4912

Options:

1) 3826

2) 3742

3) 3912

4) 3992

Correct Answer: 3912

QID : 627 - In the following question, select the missing number from the given series.
21,22,34.5,71, 180, 543,?

Feafafea vy 8 Ry 7 et & @ g ofe 31a Siforg

21,22, 34.5,71, 180, 543, ?



Options:
1) 1864

2) 2234
3) 2336

4) 1904

Correct Answer: 1904

QID : 628 - M is 2 years older than P. L is 2 years older than O. O's age is the average of the ages of L and N, P's age is the average of the ages of L and M and Ls age
is the average of P and O. Who is the youngest?

M,P82Tramaer gl L, 0¥ 2 Irel g1 81 O i 3G L 3R N & 3y o1 3 &, 3R P Y a1y L 3R M Y 31y oAt 3¥ra & ok L &Y 31y P ofR O &Y 31y ahT 3f¥rd &1 9ed Stel dhiA
&

Options:

Correct Answer: N

QID : 629 - X said to Y that your mother's father-in-law's wife is mother-in-law of my father. How are X and Y related?

X AY & gl foh Jrert A & TR A uet 2R far fr aa g1 X ofR Y U R & 9 deifda &2

Options:

1) Xis sister's husband of Y
X,Y T sga F ufd &

2) Xis child of Y's father's sister
X, Y & forar &t 55 o1 s=ar &

3) Y is father's brother of X

Y, X & forem o wré &

4) Y is sister's husband of X

Y, XHagTFufa g

Correct Answer: X is child of Y's father's sister
X, Y & fUar it g1 a=a &

QID : 630 - From the given alternative words select the word which cannot be formed using the letters of the given word.
GEOGRAPHIC

fafafea el & @ ag e g St iy g 2rea & SRt o1 UINT ek 8T ST ST SehdT:

GEOGRAPHIC

Options:

1) cheap

2) rogue

3) price

4) graph

Correct Answer: rogue

QID : 631 - If BANQUET is coded as ZYLOSCR, then how will NEW be coded as?

gfe BANQUET &t shts & ZYLOSCR forRar Sirar & af NEW @t st | e forar smam?

Options:
1) MVD

2) MDV
3) LCu

4) OFX

Correct Answer: LCU

QID : 632 - In a certain code language, 9124 means 'run around the block’, 2548 means 'don’t block the path’ and 4763 means ‘chock a block full'. Find the code for
'the'.

ot fRf9a s wmar & 9124 @t 312f & 'run around the block', 2548 @1 312 & 'don't block the path' 3R 4763 a1 312f & 'chock a block full'| 'the' & forQ i 1 &R



Options:
1)1

2) 9
3) 2
4 4
Correct Answer: 2

QID : 633 - In a certain code language, '+ represents -, - represents 'x, 'x' represents '+' and '+' represents '+'. Find out the answer to the following question.
90x10+25-5+50="?
Rl fAfa spte T & '+, - i UefRfa e &, ', X' Y Tefd aar 8, 'x, '+ Y Uefid hear § ofR '+, '+ &Y Uefid axar &1 fmfeifea s &1 SR A ae?

90x10+25-5+50="7
Options:

Correct Answer: 84

QID:634-1f11@7=2,18@0=9and 22 @ 20 = 1, then find the value of 16 @ 10 = ?

1M1 @7=218@0=93R22@20=1,a 16 @ 10 = ? &I A I1d &#?
Options:

1) 6

2) 160

3) 26

4) 3

Correct Answer: 3

QID : 635 - If A* B means A is father of B, A + B means A is sister of B and If A % B means A is daughter of B, then what does C *D % E + F mean?

IREA*BAT TSGR A, BH U A+BA AR A BRI TgA8 SIRARA%B A FF SR A BRI GRS A C*D % E + F o1 am a1ef &2
Options:

1) Cis F's husband

C Faufdg

2) Cis F's wife's brother

C, F & ucht r o7ig 2

3) Cis father of F

C,Fafiar g

4) Cis F's sister's husband
CFfsgTamrufad

Correct Answer: C is F's sister's husband
CFfsgTamrufa g

QID : 636 -

Select the missing number from the given responses

férg 0 gt 3 & o e g

3 10 2
? 3
17 19 10

Options:
1)1



Correct Answer: 9

QID : 637 - Which of the following terms follows the trend of the given list?
CABABABAB, ACBABABAB, ABCABABAB, ABACBABAB, ABABCABAB,
Frfafed & & i a1 ue & e g & o & srgErR 87

CABABABAB, ACBABABAB, ABCABABAB, ABACBABAB, ABABCABAB,
Options:

1) ABABABACB

2) ABABABCAB

3) ABABACBAB

4) ABABABABC

Correct Answer: ABABACBAB

QID : 638 - A ship starts from the port and sails 43 miles East, then it turns South and sails 17 miles, then it turns West and sails 25 miles, then it turns to its right and
sails 17 miles. Where is it with respect to the port from where it started?

T STETST UIE & TeT TR el & SR g ol 3R 43 et =retan & | O a1 afayor dr ofik qaar & ofR 17 #iet =i 81 iR a8 ufgm &1 ofik g 25 e =erar & ok fw arfest sl
e 17 et Iorar 81 fore uié @ 59 STgret 3 Ief-1 TR fohar o1 IT9 o1e 98 S8 foha il ot ;R 82
Options:

1) 18 miles West

18 Wi ufgm

2) 68 miles East

68 e

3) 18 miles East

18 fia g

4) 68 miles West

68 e ufgm

Correct Answer: 18 miles East

18 et g

QID : 639 - Two planes start from the same strip. Plane P flies 15 miles West, then turns left flies 22 miles and lands. In the meanwhile plane Q flies 7 miles South,
then flies 11 miles East, then turns to its right, flies 15 miles and lands. Where is plane Q with respect to plane P?

3 i U &1 f2T & T TR @R &1 Wi P, 15 Hiel ofe <l o Sgar & ofiR iR a1 oik gea 22 Hidt Ie7 & a1g Jis ol 8| 3T I9F wiF Q, 7 #ie gferor it ok Igar & ofk R
11 T g T 3R IS & T e Suett &Ts SfR e 15 Hidl S8 & 916 i< ohedl &1 @i P & T # w9 Q &g 87
Options:

1) 26 miles East

26 e g

2) 26 miles West

26 Her ufgm

3) 4 miles East

A+ gd

4) 4 miles West

4 it ufgm

Correct Answer: 26 miles East

26 e g

QID : 640 - In the question two statements are given, followed by two conclusions, | and Il. You have to consider the statements to be true even if it seems to be at
variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: All officers are mothers
Statement II: Some doctors are mothers

Conclusion I: All doctors are mothers
Conclusion Il: Some mothers are officers

U A €t oy 3 T € S amt &t s | ofR 11 fAret ma &1 siueRt | & o6 g e I @ 9T a8 I T e @ O vedta gia gl st ofa s & i g e
et & & a-a1/a-8 g 9 @ Fu gR1 T8t et ST hdar g/96d €, afS &S gt

HU |: goft afffthad AT¢ &
HY |I: T© Siaed A1¢ §

fArsenef |: goft Sfeedd A1g &

forseme I1: o TG siffthare &

Options:

1) Only conclusion | follows
| Tt

2) Only conclusion Il follows

Fadt ey | w8t g

3) Both conclusions | and Il follow
3T e | o 1| TEt

4) Neither conclusion | nor conclusion Il follows

1 at freenef | @l & 1 81 s |1


Nitin Saini
Rectangle


Correct Answer: Only conclusion Il follows

thad feny || TEt

QID : 641 - In the question three statements are given, followed by three conclusions, |, Il and Ill. You have to consider the statements to be true even if it seems to be
at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: All desert is jungle
Statement II: All sand is desert
Statement Ill: No trees are jungle

Conclusion I: No trees are desert
Conclusion II: No sand is trees
Conclusion llI: All jungle is sand

uy § 9 oy D T € Sres om i s |, 11 3R 11| et T €1 Siruent | & o i e O € 918 98 IETad: I 9t § 9 udia gid 8t simuest i e & & g e
frepet & @ epa-T1/apa-8 RN 0 @ wud gR1 98! Renter S erdr &/9ed €, afe s 8t

HY |: Goft T STt &
HYA |I: Toft 3 T §
U lII: Y A Sivret TE1 &

frsnef |: 7l e mea T &
fAspef Il P de T8 @
e 111 9oft ST 9
Options:

1) Only conclusion | follows
Fad freny | T8t &

2) Only conclusion Il follows
Il =gl @

3) Only conclusions | and Il follow
e sy | 3R I w@t 8

4) None of the conclusions follow

e s |, 11 oz 111 Ty e R

Correct Answer: Only conclusions | and Il follow

e fsend | ofR [ Tt &
QID : 642 -
Which of the following cube in the answer

figure cannot be made based on the unfolded
cube in the question figure?

frrferRae TR aTrpfer o & I AT B U 1T o
3TTERIeT H el B W ST 81 oI Fehell?




Options:
1

£

0y

N
-

0

w
~

S
~

o &0

Correct Answer:

=Y

QID : 643 -

Which of the following answer figure patterns
can be combined to make the question figure?

fFreferfiad oor anpfy § & B9 & uftred a1
Sitgan (% Y W SATHIeT BT ST oI Fepell 87




Options:
1

2)
3)
4)

Correct Answer: No Correct Answer ( Benefit to all )

QID : 644 -

In the following figure, square represents Artists, triangle
represents Military officers, circle represents collectors and
rectangle represents Fathers. Which set of letters
represents collectors who are either military officers or
fathers?

frfeTfiaet for o, wemerl o) Hafiia Fear &, By Ao
TR BT WE R 8, 39, Perged Bl Ha i e § 3
et firerralY et mrefifer asva &1 el @t ol AT e 9
ey B Hefiia Fwar & o ar o Piwdt siiftset & ar fmn
&

A
B JAN
YA
E
Options:
1) H
2) B
3) G
4) F

Correct Answer: F
QID : 645 -

Which of the following Venn diagrams represents the
relationship between Women, Mothers and Teachers ?

ferferRaa & ¥ i+ |1 9 fu afeemar, 7iat s farerent
& di Y AT 87



Options:
1

2)

O ©

3)

Yo

4)

@

Correct Answer:

@

QID: 646 -

Which answer figure will complete the pattern in the
question figure?

feretforRaa o < -l TR amepfcr Wy arrepfer & wfereg

ls;
P




Options:
1

I
LY

2)

3)

4)

é\

Correct Answer:

é\

QID : 647 -

From the given answer figures, select the one in which
the question figure is hidden/embedded.

< et TR aafodt 7 | 9 s Y g o wy
iy ffda &1




Options:
1

AW
AN

2)

3)

JAVANAY
[\
FFAN
/ AN

4)

Correct Answer:

JAVANAY
L\
JAVANA
/ AN

QID : 648 -

A piece of paper is folded and punched as
shown below in the question figures. From the
given answer figures, indicate how it will appear
when opened.

8 3TTHfcrl 3 fORATY SR BFTST Bl ISR IS
BT P AT T & I1E I8 b IR MMepfer ST
farg e




Options:
1)

C O O
DO 0<
o 8O o

0A0

2)

3)

4

> 0_0<
0
O A O

Correct Answer:

ovo
C o O
DO O
o O o
O A0

QID : 649 -

If a mirror is placed on the line MN, then which
of the answer figures is the right image of the

given figure?

IfS Teh SUUT DI MN RGT IR G111 T of TRt IR

il 3 F HIF-EY STBIeTr T4 TpfT BT Fe
ufcifars grfi?
N
F O
A




Options:
1

R
A

2)
S
P AN

3)

h 4
O A

2
N\ 4
h ©
OB
P AN

QI 650-

A word is represented by only one set of numbers as given in any cne of the
alternatives. The sets of numbers given in the alternatives are represented
by two classes of alphabets as shown in the given two matrices, The
columns and rows of Matrix-l are numbered from O to 4 and that of Matrix-l|
are numbered from 5 to 9. A letter from these matrices can be represented
first by its row and next by its column, for example 'H' can be represented by
21, 43 etc and 'R’ can be represented by 96, 87 etc. Similarly, you have to
identify the set for the word 'POEN'.

T 9es et U WET-TIE G SuTEr T 8, S T famed 7 ¥ flt g A
oz w1 &1 et g 10 - g areRl & &t it gy swfe g £, S i
ferg g 2 aTreEl & &1 avegs-| & w Sl afin ST EEaT 0 9 4 37 3eE-l it 5
T 0 Bl 57 R 4 U9 318 DT Teel SHd! Ui 31 916 5 T T 2 e
T Fehed] &1 S8 & fo70 ‘H' T 21, 43 2N gRT Saifar o Heva & 9 'R’ &
98, 87 SN1f& ST =TaT w1 wadr 21 39t avE W agd! U i B oes ‘POEM' &
fery e et geaAr 21

___Matrix] TR i Matein 1| __HTgE-l
0 i ]| 2 3 4 5 3 7 3 g
0 A A L A B 5 a U Y N z
1 C A F B [ [ N R v [5] z |
2 ) H F B K 7 ] N Q w "]
3 F 1 | A I L & % N [ y v
4 | B | 8 H E [ % R [ T o |




Options:
1) 76,69,01,33

2) 56,88,23,41
3) 89,56,44,02

4) 75,68,44,33
Correct Answer: 75,68,44,33

QID : 651 - Depreciation of fixed assets is an example of

Il aRerfraT s e SaTeRv & I

Options:

1) deferred revenue expenditure
i 3o =g

2) capital expenditure

oy g

3) capital gain

JSTiTe TTfe

4) revenue expenditure
ISTed &g

Correct Answer: capital expenditure
goiTd e

QID : 652 - Which one of the following is not a feature of monopolistic competition?

fFrafafea 8 @ Ai9-d v RAIvar tafIeR gl i 78t 872
Options:

1) Large number of buyers and sellers in the market
R A WiiegR 3R Sa-arel Y gt Tem

2) Differentiated products constitute the market
faafea I & IR ST &

3) Product in the market is homogeneous

TSR & IeUTE AT g1 &

4) Selling costs are used for sale promotion

frepg Jag=T & forg faeht amTal &t g fhar Star &
Correct Answer: Product in the market is homogeneous
IR # IATE

QID : 653 - What is the maximum loan amount permissible under the MUDRA Yojana?

HET AT o Sieita stfdenad Sigara o e faat 82

Options:

1) Rs. 50,000
50,000 ¥u
2) Rs. 1 lakh
1 dRg 39

3) Rs. 5lakh
5 9Rg U

4) Rs. 10 lakh
10 ¥Rg ¥0

Correct Answer: Rs. 10 lakh
10 9rg ¥0

QID : 654 - As per a latest classification of countries by the World Bank India now belongs to which of the following category?

frsy ¥ g1 Rp 1Y 327 & AT FfeRoT & SIER STRA adA & e Sioft € e 82

Options:
1) Upper-lower income country
Ieg-f ST ATt a1

2) Lower-middle income country
f-aey 3 arel 2T

3) Middle-middle income country
T § HEIH MY Tl &0

4) Lower-upper income country
-3 31 arer

Correct Answer: Lower-middle income country
fR=-Hegw 3ma arer a1

QID : 655 - As per census 2011, which state had the lowest sex ratio?

20711 T SFRTUMAT & SR, fohe wsa # felmgura 9ed & am?



Options:

1) Punjab
USITe

2) Haryana
ghamom

3) Uttar Pradesh
IR U

4) Bihar
fagr

Correct Answer: Haryana

QID : 656 - Pluralist Theory of Sovereignty emphasizes the importance of which of the followings?

T & Fgerars) Rigia § fAefafea 3 fore w g e s &2

Options:
1) Association
g

2) Monarch
XTSIl

3) State

g

4) Government
TIRR

Correct Answer: Association
g

QID : 657 - In which of the following countries the system of judicial review was originated?

frfafea & § fore 21 # =nfRies Tfter vomedt o1 Iga garm wm?

Options:
1) France
i

2) Germany
ST

3) USA

RASNY
4) Britain
s

Correct Answer: USA

LWHY

QID : 658 - Under which article of the Indian Constitution is the District Planning Commission constituted?

VR Tfae & fFg srgeee & sfavfa fore gt afafa &1 e+ giar 87

Options:
1) Article 243 ZD

3G 243 ZD

2) Article 244 ZD

31 244 7D

3) Article 242 ZD

3T 242 ZD

4) Article 243 ZE
g% 243 ZE

Correct Answer: No Correct Answer ( Benefit to all )

QID : 659 - Which kind of majority is required for constitutional amendment in forming a new state?

Qeh T 8 a1 H Fa4ies it & forg & agad =nfeu?
Options:

1) Simple

YR

2) Two-third

3) Three-fourth
f-frorg

4) Two-third plus ratification by half of all states
3-feTs gd eme s et srgEEeiE

Correct Answer: Simple

HTYROT

QID : 660 - Which officer of the Government of India has the right to take part in the proceedings of parliament of India even though he is not a member?

VR TRAR SHI-91 SHfIRRT T& 7 gia §Q Ht R G6a &l wriame! § 9T o &1 SR @ 82



Options:

1) Vice-President

3u

2) Attorney General of India

TR T ST STRA

3) Comptroller and Auditor General
[>eh Td Hgleiar usietdh

4) Election Commission

TG SY<h

Correct Answer: Attorney General of India
TR T ST SRS

QID : 661 - The term 'Stupa' is associated with which of the following event of Gautam Buddha’s life?

T A T I o Sita Gl Frfafaa frg ger & F&fa g2
Options:

1) Death

g

2) First Sermon

T IUS

3) Birth

S

4) Renunciation
DEEILE

Correct Answer: Death

et

QID : 662 - Who was the last ruler of the Gupta Dynasty?

T g1 & Sifa AT @i Ar?
Options:
1) Puru Gupta

T
2) Vishnu Gupta

fomsoy T
3) Skanda Gupta

Tha I

4) Kumar Gupta

PRI

Correct Answer: Skanda Gupta

The T

QID : 663 - Where was Guru Govind Singh educated and learnt Persian?

T it Rig & e apel g8 ofie Sei et avgl et o2

Options:
1) Lahore

2) Amritsar

AR
3) Patna
e

4) Anandpur Sahib
SHEQR ATfed
Correct Answer: Anandpur Sahib

GG A1fed

QID : 664 - Which of the following was the precursor of Indian National Congress?

Prafafd & s srRet Tt s it o weer off?

Options:
1) Servents of Indian Society
2) Indian Association
NE]
3) Indian National Union

gfoge e gfee

4) Indian League
gfoez ofr

Correct Answer: Indian Association
(A

QID : 665 - During which governor general's time was the annexation of Sindh in British State done?

g ek SR & gEg | Ry o e fafesr wsg 7 fovar mam?



Options:
1) Lord Dalhousie
ars

2) Lord Chelmsford
S JHIS

3) Lord Ellenborough
Al TeAaRt

4) Lord Hastings
«re afa

Correct Answer: Lord Ellenborough
I

QID : 666 - What is the second most abundant element on Earth's crust?

gedt dh T JU TR () TR IUEY GRT Fad TR < T 67

Options:
1) Carbon
e

2) Silicon
Aot

3) Oxygen
SferfieT

4) Hydrogen
RGeS

Correct Answer: Silicon

QID : 667 - What is called a shallow stretch of river that may be crossed on feet.?

&Y T Teh I FAIaR <1t Geet a1 M) @ R fohan ST 9ok, T shgerrdr &7
Options:

1) Ford

B

2) Atoll

dw

3)VReef
et
4) Lagoon

Correct Answer: Ford

QID : 668 - Which among the following is a cold-dry wind?
frfafed & 9 o 9 v & ofR yon arg &7

Options:

1) Hurricane

2) Tornado

e

3) Bora

EINj

4) Cyclone

RIEESIE]

Correct Answer: Bora

QID : 669 - The man-made reservoir Gobind Sagar located in Bilaspur is situated in which of the following states?

e srafed #a [fa sener Mifde arR fafafea 7 & g a3 A @2
Options:
1) Uttarakhand
IRETS
2) Uttar Pradesh
ITR TR
3) Punjab
EEic)
4) Himachal Pradesh
TR

Correct Answer: Himachal Pradesh

femmeer e

QID : 670 - Which among the following rivers does not flow from East to West?

frafafea & 4 wF-d 78 gd & uffw &t ok 78 7o 87



Options:
1) Narmada

2) Tapti
aredt

3) Cauvery
R

4) Mahi
et

Correct Answer: Cauvery

QID : 671 - Which of the following historical monument has been chosen as a "Swachh Bharat Icon" by the Union Government on November 21, 2017.

21 TdsR, 2017 &t A=fafaa § forg faeRie TIRe o 99 TR 3 "o YR 3MgaA" & &9 § gafad faar?

Options:
1) Haveli Dharampur
At e

2) Charminar
IRHAR
3) Amaravati

4) Vishwa Bharati
[EERIGI

Correct Answer: Charminar

QID : 672 - As per a recent announcement, where will India's first Electronic Manufacturing Cluster (EMC) come up?

BT &1 H & 1 WU & SIUR R & UUH SAagi-eh Atherd (NI heteex (SQEE) <Rl <ATOHT gl Y SaEft?
Options:

1) Andhra Pradesh

3TET e

2) Maharashtra

HeRTY
3) Rajasthan
ST

4) West Bengal
i Smer

Correct Answer: Andhra Pradesh
ST TRT

QID : 673 - Which of the following is a multilevel global campaign to spread awareness about importance of girl's education?

TSTehat & feT & 75 & TR H SRR the™ & oy mfafed § & ageia affes sifeam di-a1 82

Options:
1) Girl Rising
et FSIT

2) Most Important Part of Our Life: Girls
AR Sfia ol eg 315+ feeam: afermr

3) Save Girls: Educate Girls

aferenT srard: arforent e

4) Education of Girls
nferearst et fRem

Correct Answer: Girl Rising

et ST

QID : 674 - Which country will host the Summer Olympics 20207

i sficifien 2020 6 Astart w T 3T HEM?
Options:

1) Qatar

R

2) Tokyo

et

3) Rome

A7

4) Jakarta

STeraf

Correct Answer: Tokyo

QID : 675 - Which of the following sportsperson is not correctly matched with their respective discipline?

frfafed 7 § i fEars o @« e |« 8 gafed 761 82



Options:

1) Jitu Rai : Shooting
Siig  : gIfe

2) PV. Sindhu : Badminton
or.dft. [y : Jefifes

3) Sakshi Malik : Boxing

areft Aferes : diferiT

4) Deepa Karmakar : Gymnastic
ST HYHTRY :

Correct Answer: Sakshi Malik : Boxing
areft : SR

QID : 676 - “A Better India : A Better World” is written by

‘TIR AT VAR TS F RIS 8

Options:

1) Arun Jaitley

3T et

2) Aamer Hussein
afeR g8

3) N.R. Narayan Murthy
Q. TR, TRII0T Ffef

4) C. Raja Mohan

1. a7 JgA

Correct Answer: N. R. Narayan Murthy
T, R, AR Jfef

QID : 677 - Which among the following has won the Nobel Prize for Chemistry in October 20177

frafafea 3 @ fraa srpeR 2017 & TR A & g Aiee [REeR Sitar 82

Options:
1) Jacques Dubochet
S|

2) Joachim Frank
et then

3) Richard Henderson
Rag &

4) All options are correct.
goft faemey Tt €1

Correct Answer: All options are correct.
gt faeey Tt €1
QID : 678 - On birth anniversary of social reformer Basavana how many volumes of Vachana were released by Narendra Modi in April, 2017?

ST 2017 H, T AT = IS GUReh ST &l STl IR G211 oh fehd= A¥heol SI- oy 87

Options:
1) 21

2) 20
3) 23
4) 25

Correct Answer: 23

QID : 679 - In May 2017, with which country India has signed an agreement on Maritime Security?

7E 2017 #, RA 7 fFT 321 3 1y T QReT & IHEd R gwer fhy 82

Options:
1) Sri Lanka
sfietent

2) Bangladesh
TTeAT&eT

3) Mauritius
AR

4) China

7

Correct Answer: Mauritius
TR

QID : 680 - Which neighbouring country of India measures prosperity by gauging its citizens’ happiness level?

TR T 1T AT TSI 42T TG el ST ANTRER] ehl GRIT o TR GRT ATYAT 82



Options:
1) Pakistan
TR

2) Nepal
Jarer

3) Sri Lanka
ofietent

4) Bhutan
e

Correct Answer: Bhutan

g™

QID : 681 - In which communication mode, data can be transmitted in both directions at same time?
forg TaR & UR & STeT o1 TTRUT Ueh GHY B g et & Torg glar g2

Options:

1) Simplex

Rty

2) Full duplex

quf St

3) Half duplex

A St
4) Multiplex
AR

Correct Answer: Full duplex

QID : 682 - The computer program that converts assembly language to machine language is called

IR I I8 WA i Srefarent a7 &t Af oo & wuiaRd e &, FHgaTaT gl

Options:

1) Complier
HITER

2) Interpreter
R

3) Assembler

4)1 Comparator

Correct Answer: Assembler

QID : 683 - Which is a base metal of amalgam alloy?

ST AT T TR &7 i T 872

Options:
1) Aluminium

2) Mercury
IRy

3) Copper
GIEH

4) Zinc
STEIT

Correct Answer: Mercury
Ut

QID : 684 - Which of the following is the structure of graphite?

frfafed & § & & dwrse it 9 82

Options:

1) Rigid three-dimensional
CraEl

2) Hexagonal

Rreanivg

<

3) like Football

tpesiter St

4) No optionis cp%rrect.
I

Correct Answer: Hexagonal

=\

QID : 685 - A wooden spoon is dipped in a cup of ice cream. Its other end will .

Aehe! &l Goh TG chi SNTSHSHIA oh T H ST AT & | SHehT GERT /T ______ |



Options:

1) become cold by the process of conduction
T UfehaT & GRT 38T &1 SITY

2) become cold by the process of convection
Tag- ufehar & gRT ST g1 SITQm

3) become cold by the process of radiation
faferzor ufehar grr Se1 8) S

4) not become cold

S 7 g

Correct Answer: not become cold

&1 7 g

QID : 686 - Which acid is the most abundant acid found in grapes?

SR & Fer® UgR AT H i T 3 AT ST 82
Options:
1) Oxalic acid

I 3R
2) Ascorbic acid

3TRT
3) Tartaric acid
3T

4) Formic acid

ifefen sreT

Correct Answer: Tartaric acid

TéRe® et

QID : 687 - The splitting of white light into its component colours is called

AT ThIRT hT IGh S7ad! quif & Ao shgerar gl

Options:
1) diffraction
faad=

2) refraction
3) dispersion
4) scattering

Correct Answer: dispersion

QID : 688 - Which of the following statements are CORRECT?

I. Change in magnetic field produces induced current.
1. Flow of current in a conductor produces magnetic field.
Ill. Magnetic field related to coil can be produced by motion between conductor and coil.

frafafea & @ o & & | 82

|. Gechrar & # uRRad § DRa T Seaa gt &

I1. TTeTeR A aTied URT ahid & 309 el 8l

11, HUSeh G Teifera aehra &, ATeleh auT HUST & Heg ATUFET TIfT o HROT gt Hehell B
Options:

1) Onlyland Il

haet | qarll

2) Only l'and Ill
Shaet | qr il

3) Only lland Il
had |l qr Il

4) All statements are correct.
Foft e @t &

Correct Answer: All statements are correct.

gt o Tt €1

QID : 689 - Which gas is used as a fuel in a rocket?

Ahe & S & = F o DY A o1 IuanT fmar Srar &2



Options:
1) Radon
&=

2) Hydrogen
3) Chlorine
FARA

4) Nitrogen

Correct Answer: Hydrogen

QID : 690 - Which of the following is good insulator?

frafafea & § we@ sfear gares o @182

Options:
1) Mercury
URT

2) Cadmium
Tefam
3) Germanium

4) Glass
g

Correct Answer: Glass
GaE)

QID : 691 - Which is the most abundant Vitamin found in carrot?

ToR & Gad UgR 7151 § e 91 faerfa uran sirar 82

Options:

1) Vitamin A

e A

2) Vitamin B

fGafda B

3) Vitamin C

ferfd= c

4) Vitamin D

fGafd= D

Correct Answer: Vitamin A
A

QID : 692 - How the rate of absorption of water through roots can be increased?

STE & ATHH § e & SN T &R hdt TR ST Gehell &2

Options:

1) Keeping the plants in the shade

dielf et BT H T@H

2) Keeping the plants in the dim light

diel} et Fig UehTRT B 3@

3) Keeping the plants under the fan

dieff ol U o it TE@ae

4) Covering the plants with a polythene bag
dieft et diferefi & gehene

Correct Answer: Keeping the plants under the fan
o} et U & fE @R

QID : 693 - A spore producing plant is .

HIATU] IT= R ATAT Teh UTSY Sfid 2l
Options:
1) rose
NSIE]
2) bread mould
& e
3) potato
ST
4) ginger
37e¥h
Correct Answer: bread mould

&l he

QID : 694 - Which chromosome is responsible for manliness in man?

QN A YN o foIg i AT UG St STRar 82



XY

Correct Answer: XY

QID : 695 - The human eye forms the image of an object at its

A A R Rt ag ot wfafene s &)
Options:

11 cornea

2) iris

3) pupil

qdett

4) retina

Correct Answer: retina

QID : 696 - Which of the following is NOT a multicellular organism?

fr=faf@a & @ & 91 ge ag-aifh Sita w8l 82
Options:

1) Fungi

helch

2) Spirogyra

TTRATET

3) Hydra

BIggl

4) Paramecium
R

Correct Answer: Paramecium
?

QID : 697 - Which disease is caused by cadmium metal pollution?

Seiaw oTg & UguuT  SHiF °1 T gielr &2

Options:
1) Minamata

2) Itai-ltai
FeTd-gerg

3) Asthma
STHT

4) Dermatitis

Correct Answer: Itai-Itai

FeTd-gerg

QID : 698 - Which of the following is an organic gas?

frafafea & g o & v e A9 82

Options:

1) Carbon dioxide
HET SFAHTFIES

2) Carbon monoxide

HTeH A TRTES
3) Ethylene dichloride
[REIEESECEINESS

4) Nitrogen dioxide
B §'gﬁ oI SISSHIgS
Correct Answer: Ethylene dichloride

QID : 699 - Basel Protocol is related to which of the following?

I8 Ml Fefafed & & frad deifea 82




Options:

1) Ozone layer

3T oA

2) Burning of forests

T T ST

3) Sea water pollution
LT ST BT gwoT

4) Trans-boundary hazardous dumping
QAT IUFAE yerT & HAUR wHia=or

Correct Answer: Trans-boundary hazardous dumping
QAT IUFAE yerT o HAUR wHia=or

QID : 700 - Which of the following is parasitic food chain?

FfafEd § 8§ aF wiusie @Ter 4@ 8?

Options:

1) Trees - Fruits eating birds - Lice and bugs

987 - e @M arel et - S quT e

2) Grass — Rabbit — Fox - Tiger

Y - G - A - 9"

3) Grass - Grasshopper - Frog - Snake - Hawk
i - fegr - Agd - |ig - are

4) Phytoplankton -» Zooplankton - Fish - Hawk
ey wWaeh - TToft wad - "ot - ar

Correct Answer: Trees — Fruits eating birds — Lice and bugs

g&7 - el @M arel uall - S qur Hie

QID : 701 - Which of the following quality of timber can be improved using Abel's process?

frfafea & & @t &t e T orer garet & ufehar & e S 82

Options:

1) Durability

ggafterar

2) Fire resistance
Yehdl

3) Chemical resistance
yfaRierehar

4) Strength
dTehd

Correct Answer: Fire resistance

3ff gfeRierepar

QID : 702 - Which of the following shows the CORRECT decreasing order of rate of hydration of Portland cement compounds?

ffafEa 7 @ o a1 fidds Wi At & STerdiom &t &R & T8l ged oA o firar &2
Options:
1)
C,A>CAF>C,S>C,S
2)
C,A>CAF>C,S>C.S
3)
C,A>C,5>C,S>CAF
4)
C,AF>C.S>C,A>C,S
Correct Answer:

C,A>C,AF>C,5>C,S

QID : 703 - The proportions of ingredients in concrete mix are given by 1:2:4. What will be the actual quantity of the sand per unit volume of cement, if it undergoes
20% of bulking?

Shehie frsror & armft &t SrguTd 1: 2: 4 & SrguTd # fam mar 81 e i wfd gftie A | 39 Y arafde [ o 8, afe ITH 20% 1 e g1 82

Options:
1) 15
2) 2.4
3) 46
4) 6.5

Correct Answer: 2.4



QID : 704 - What is the range of slump (mm) of the concrete which is used as the mass concrete?

chehte ST AT & U & v fohar Sirar &, sraard (B #ff) dar i &2
Options:

1) 10t0 15

10315

2) 2010 50

20950

3) 50t0 75

50875

4) 7510110

752110

Correct Answer: 20 to 50
20 %50

QID : 705 - In the symbol used to represent the concrete mix, MX. M stands for mix and numeric X represents the .

e 0T a1 ufaffe st & forg ugeh g MX H, M frsror & fog & ofk dweamees X o1 gfafAfe sar g1

Options:

1) 7 days compressive strength
7 f&AT & ddtew wmred

2) 14 days compressive strength
14 A1 & ddte g

3) 28 days compressive strength
28 & & difte ammed

4) 28 days tensile strength

28 {1 & a1 g

Correct Answer: 28 days compressive strength

28 f&1 & Tdfre gt

QID : 706 - According to the IS code, at what moisture content, weight of the timber is noted?

TS, T, i & AR, fohe Tt U, Aergt o1 gt e fwa STrar &2

Options:
1) 0.05
2) 0.12
3) 0.23
4) 0.3

Correct Answer: 0.12

QID : 707 - What is the recommended moisture content of timber, which is used as a structural element for windows?

Tengt fordt ferefonat & g TRamTeHes dca & U § TR foa Sirar 8, Srgeiflia =it &t A & &2
Options:

1) 510%

2) 10-16%

3) 16-26%

4) 26-36%

Correct Answer: 10-16%

QID : 708 - Which of the following represents the smallest size (mm) of fine aggregate (sand)?

fFafafea 3 @ oF 1 Ikte 999w (39) & 999 Bi¢ SR (i) it fewarar 82

Options:

1) 0.01

2) 0.06

3) 1.5

4) 2

Correct Answer: 1.5

QID : 709 - What is the percentage content of silica in a good quality brick earth?

ST} TUTET aTet el it d¢ g § IuAeT i STt €, 3T fRiferer & ufdwra @ @ &2
Options:

1) 20-30%

2) 30-40%

3) 40-50%

4) 50-60%

Correct Answer: 50-60%

QID : 710 - When timber is burnt in the wood fire over a depth of about 15 mm, the process of treatment is known as .

AhS! & IUTR hY Ufehar fTH deha! ol 3T H AT 15 A Y 18-1E aah Ster e ST & 39 gl ST &1



Options:
1) charring
TR

2) rueping process

3) bethel process
et ufehar

4) boucherie process

Correct Answer: charring

QID : 711 - The plasticity index and plastic limit of a soil is given by 25% and 20% respectively. What will be the liquid limit of the soil?

gt <t GereardT (e &) Garhien ok Yoea (whifean) Har shAer: 25% 3R 20% adh & 74 &1 fg) Y aver i a2

Options:
1) 0.15
2) 0.25
3) 0.35
4) 0.45

Correct Answer: 0.45

QID : 712 - In the flow over length of 50 m, the head loss of 6 m occurred due to seepage. The hydraulic gradient is givenby_____.

50 Htex &t 7iars § garg F, 6 Hiex H FarE o1 Jhar Rea & SRt gor| grggifors ifete gR1 fRar Srar 81
Options:

Correct Answer: 0.12

QID : 713 - Which of the following expression represents the CORRECT value of coefficient of curvature?

fr=fafea & & o <t 3tk aohdt & uiier & T A a1 ufafAfda st 82

Options:
1
2
C = (D3U)
i Dy, < Dy
2)

2
o= (D’SU)
3 Dy, x Dy,

2
C = (D"U)
Dy, % Dy,
4)
C - D,
Dy, = Dy
Correct Answer:
2
G = (D3U)
’ D, = Dy,

QID : 714 - Which of the following apparatus is used to measure the liquid limit soil?

g &t ot I ot TR & forg f=faifa & § foner IueRvor @t T ok Sirar 87

Options:

1) Casagrande apparatus
TS JUhT

2) Pycnometer

3) Ring and ball apparatus
3R STeT IUHROT

4) None of these

T8 A g Tl

Correct Answer: Casagrande apparatus
FERITS IUHROT



QID:715-
The compressibility of the fluid is given as 5x 107" Pa™'.
What is the Bulk modulus (GPa) of fluid?

aa &1 Ghofar 51107 Pa~' & & F & S &)
el e f Joarerar Ai9ie (GPa) 7T &7

Options:
1) 10

2) 15
3) 20
4) 25

Correct Answer: 20

QID : 716 - Which of the following is measured with the help of an orifice meter?

1 & @ @i T SitRftha ez & ggraan & Arar STar &2
Options:

1) Discharge

e

2) Discharge coefficient

uTich
3) Head of water
urft i FaE
4) Pressure coefficient
E&Tq {[UTich

Correct Answer: Discharge

QID : 717 - Which of the following represents the CORRECT range of coefficient of discharge of venturimeter?

FfafEa # 8 @i a1 Igdeiex & fdga & uTics & Fg! W a1 ufaffde sear 82

Options:
1) 0.32100.43
0.3290.43

2) 0.45t00.52
0.45%0.52
3) 0.54100.75
0.54¥0.75

4) 0.96100.98
0.96 9 0.98

Correct Answer: 0.96 to 0.98
0.96 §0.98

QID:718-

A cube of dimension 2 m is floating in the water

with immeraing depth of 1 m. What is the weight

(kM) of the cube? (Consider unit wéight of water
as 10 kN/m® )

2 HIEX & HAH @1 9=1 1 Hied H I 505 &
1Y g & R W@ Bl g9 T a7 (kN)

T &2 (AT STl &l OI=AT &l S&is dole
10kN/M® &)

Options:
1) 10

2) 20
3) 30
4) 40

Correct Answer: 40



QID:719-
The Reynold number for the flow through smooth
pipe is given by 10°. The value of friction

factor for smooth pipe is

el U5y & ATH ¥ 9die & fov Eies d@at 107 Bl
Rt grsg & 6T 99 FRE &
T _____§

Options:

1) 0.001

2) 0.018

3) 0.089

4) 0.125

Correct Answer: 0.018

QID : 720 - At a particular point in the channel, the specific energy and velocity of flow is given by 1.5 m-kg/kg and 2.5 m/s respectively. What is the depth of flow in
channel at that point?

el | Ues fai faig W, fafre St ofk varg a1 3 shmam: 1.5 m-kg / kg $R 2.5 m / s gRT e ST1am &1 39 99 Il | UaTg <l TexTs T 872
Options:

1) 0.5

2) 1.18

3) 2.32

4) 25

Correct Answer: 1.18

QID:721 -
A circular pipe of diameter 60 cm carries a
discharge of 2.5 m*/s. What is the velocity

of flow (m/s) through the pipe?

60 9HT @1 T Uk dedisi gsy & Hdee
25mPis Bl UISY & AIH § 9dI§ (M / s) &I
T =T B

Options:
1) 2.5

2) 5.67
3) 8.83

4) 12.32

Correct Answer: 8.83

QID : 722 - Which of the following represents the CORRECT relationship between the Chezy's coefficient, C and coefficient of roughness of channel, f?

frafafea & & i a1 If 1ories, C 3R e &t GrexToH oniss, f & ot a8t Red @t nfafafere sean 82
Options:

1)



Correct Answer:

C'_—
N

QID : 723 - Which of the following is calculated with the help of Moody equation?

T Tfienvor Y T § = & § fohweht TorT i STl 82
Options:

1) Discharge

fde=

2) Friction factor
0T RS

3) Pressure

CEIC)

4) Velocity of flow
UaTg & AT

Correct Answer: Friction factor
YT hRh

QID : 724 - Which of the following is responsible for the separation of boundary layer?

1 T=a & I g1 & fog e A @ e ReR 82

Options:

1) Positive pressure gradient
HhRIcHS &g Uqordr

2) High viscosity of fluid

%a &Y I=T FEaT

3) Low viscosity of fluid

TR TaTe I HH A

4) None of these
EEEEIEE]

Correct Answer: Positive pressure gradient
ThRIHS &1 Jaqurdr

QID:725 -
The settling tank of surface overflow rate of
4 5107 m? imé/s is used for design discharge of

2m'/s_What is the surface area (m?) of the settling
tank?

TaE & AfAYAE &¥ 45107 n* /s T deloe
T F IWET 2t s Bema F BEare

& foiw fohar ST 81 defoe Eohl T Tap &
(m?) = 87

Options:
1) 1000

2) 2000
3) 3000

4) 4000

Correct Answer: 4000

QID : 726 - The rain is called as acid rain, when its pH is less than .

IR T AT auT gt ST & ST IThT diga YA gar gl

Options:

1) 3

2) 4.5

3) 7

4) 8.5

Correct Answer: 4.5



QID : 727 - Using prismoidal method, what is the volume (cubic metre) of earthwork required for 10 m deep pit, if the top and bottom dimensions are 4 m x 8 m and 8
m x 16 m respectively?

i fafey o1 IuiT e §T, 10 Hier TR 1 & oy srasaes Wars a1 mrraH (99 Hier) R & afg o ofik 2 & smam 4 wfiex x 8 Hiex afik 8 Hiex x 16 Hex &?

Options:
1) 678.34
2) 746.67
3) 800

4) 1493.33

Correct Answer: 746.67

QID : 728 - For supply, lime is measured in .

AT mgff & forg, __ # AT S1rar 1
Options:

1) bags of 50 kg

50 foram & &1

2) cubic metre
o Hiex

3) kilograms
[Expie

4) quintals
foRies

Correct Answer: kilograms

QID : 729 - What is the estimate (Rs.) for a building with a plinth area of 2000 sg. m with rate of Rs. 3800 per sq. m? (Consider the adds of 15% of electric installation
and 7% of miscellaneous)

2000 FrfHteR & i (fAfeier) @aher & fAmfor & forg 3800 & i anf Hiex i @ § SrgATF R (FUQ) FRaT 82 A1 wiord &t 15% fared <o ofR 7% fafdear &1

Options:

1) 150000
2) 450080
3) 2423000
4) 9272000

Correct Answer: 9272000

QID : 730 - What is the quantity (sq. m) of plastering required for the 6 m length of wall which is 4 m high and 50 cm thick?

6 Hex 7, 4 Hex ST ok 50 FEfer 7 §ar & forg smaaeh gear Fr a6 (a1 Hie) @m &2
Options:

Correct Answer: 48

QID : 731 - The length, width and height of a wall are given as 800 cm, 500 cm and 50 cm respectively. What will be the total cost (Rs.) of brickwork, if the rate of
brickwork is Rs. 320 per cubic metre?

e §aR &l daTs, FeTs ofR Hams shAen: 800 R, 500 Tt ok 50 T+t & w0 7 & 7E 1 At Se-foms Y ar 320 Fug ufa 69 #iex & at Se-fomE Y g @vTa (3.) R gni?

Options:
1) 4000
2) 6400
3) 10500
4) 12860

Correct Answer: 6400

QID : 732 - The plinth area rate and plinth area of a building is Rs 5500 per sq.m and 150 sq.m respectively. What is the total cost (Rs.) of building considering cost of
electrification as 7%, cost of sanitary fittings as 16%, cost of roads and lawns as 6.5% and cost of contingencies as 4.5%.

Teh AR a1 &+ (furfcter) eisronet &t & ofR wior &arther shms: 5500 UT Ui af Hiex ofk 150 ufa avf wfiex & 1fSed 7% fegdencor & amma, 16% &fest ftbfém & avTd, 6.5% Tgant
3R A Y AT 3R 4.5% STeh{TIeh 1T o =0 # fAafor & forg amra (Fug) @n 21

Options:

1) 50000

2) 825000

3) 982860

4) 1105500

Correct Answer: 1105500

QID : 733 - Which of the following item is NOT a lump sum item?
frafafEa & § o a1 agg gorged i axg =gl 82



Options:
1) Architectural features
EISIR RN
2) Contingencies and unforeseen items
SYATAT TRGY
3) Electric installation
farega T
4) Plastering of wall
T UeT&R

Correct Answer: Plastering of wall
T TI&R

QID : 734 - What is the total cost (Rs.) according to approximate estimate of hostel building with capacity of 75 beds? The altogether cost per bed is given as Rs.
20,000.

75 € &Y evaT aret BETEE & Fafor § srAAd ga anTd (FUQ) 9T 82 Ui UeiT et @rTd 20,000 U R man &1

Options:

1) 500000
2) 850000
3) 1500000
4) 5500000

Correct Answer: 1500000

QID : 735 - What is the volume of earthwork (cubic metre) in embankment of 10 m long and 7m wide with the side slope of 2:1?

2:1 I U T o A1 10 Hiex wdeft 3R 7 Hiex St Uk desy & GaTs (9 H1eR) 1 S T 87
Options:

1) 70

2) 150

3) 280

4) 390

Correct Answer: 390

QID : 736 - Which of the following method is used to prepare the approximate estimate?

fafafea 3 @ forg RfY o1 gah srgaTfAa Teees daR & & g forar Srar 82

Options:
1) Cubical contents method

T gt fafey

2) Plinth area method
LSk

3) Unit base method
gaTs 3R fafdy

4) All option are correct
goft 4

Correct Answer: All option are correct

gt e Tl &

QID : 737 - In which of the following condition two contour lines intersect each other?

Frafafea 7 8 fon aRfRfoat 4 & at=a T@Tg Ueh gER &l et 82
Options:

1) Hills

ugre

2) Overhanging cliff

ICehl g3l dgl

3) Steep slope

TS s

4) Uniform slope

HHE &l

Correct Answer: Overhanging cliff
AIChl g1 dgT—

QID : 738 - Which of the following scale of the map is not affected due to shrinking of map?

AR & 4 Ao & § 1 AR & Riged & wrot vafaa 78 gtar 82
Options:
1) Engineer's scale
<hl HIY<h

2) Graphical scale

5 HIUch
3) Representative fraction
Uia&y T
4) None of these


Nitin Saini
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Correct Answer: Graphical scale
ISEIzCE:

QID : 739 - A surveyor measures a distance between two points on a map of representative fraction of 1:100 is 60 m. But later he found that he used wrong
representative fraction of 1:50. What is the correct distance between the two points?

ek aeteh, 1: 100 o Uiy 381 & AT R & foigatl & st gt ot A1UaT 8, St 60 Hiex 1 wifche a1a | Ieg1+ uraT foh S=gi= 1:50 o TTed UfcRey Si81 r IuahT foar g1 &l fagstt &
T gt gt | 82

Options:

1) 30

2) 45

3) 90

4) 120

Correct Answer: 120

QID : 740 - Which one of the following is the CORRECT statement for a station that is affected by local attraction?

fr=feafaa & o a1 v RIA & g 98t svue 8 St o Wi sirepsor @ genfaa g2

Options:

1)p Difference between the fore bearing and back bearing is always equal to 90 Degrees.
3 3R 3R TRy Frfr ot SR gAem 90 feTht & sReR BT @

2) Difference between the fore bearing and back bearing is always equal to 180 Degrees.
3 AR 3R TR FAfAT AT SR gALM 180 & & SRR g &

3) Difference between the fore bearing and back bearing is not equal to 180 Degrees.

37 3R 3R TR SFarfdr et SR gAem 180 ftf & sreR At gtar &

4) Difference between the fore bearing and back bearing is always equal to 360 Degrees.

3T 3T 3R U7 F3MRT T iR gHam 360 3t F ReR gl E

Correct Answer: Difference between the fore bearing and back bearing is not equal to 180 Degrees.

3T 3T 3R U1y F31RT 1 iR gHam 180 f3ift & R A glar &

QID : 741 - Which of the following error is most likely to occur in the plane table surveying?

fafafea 8 @ o W IR wF 2aa gdermr & T sifdes g Y Heremr 82
Options:

1) Error in sighting

e AR

2) Error in orientation
feamfadar & g

3) Error in leveling
oA |

4) Error in measurement
AT F Ffe
Correct Answer: Error in orientation

famfader & fe

QID : 742 - Which of the following is the expression for the additive constant, if f is the focal length of objective and i is the stadia interval?

frfafed & § & a1 giete i & fog S &, 3 f awg d1 hiend gt ok | R sievrer 82

Options:

1) f-i

2) f/i

3) f+d

4) fxi

Correct Answer: f + d

QID : 743 - The staff reading taken on a staff held at a distance of 50 m from the instrument with the bubble central is 1.465 m. When the bubble is moved 4 divisions
out of the centre, the staff reading is 1.472 m. What will be the radius of curvature (m) of the bubble tube, if the length of one division is 2 mm?

AT cheeh oh TTY IUSHROT F 50 Hiex Y gt TR ST Gk wIth IR #ff 71 Ik UBH 1.465 HieR & 59 FAgen ha o SR 4 W Rl WIART foRar ST &, df w0 uad 1.472 Hiex
& TeTgeT os 1 ashell e (+ieR) o/ g, af gep v o et 2 et 87

Options:
1) 30

2) 437
3) 57.14

4) 66.34

Correct Answer: 57.14

QID : 744 - Which of the following is the CORRECT ratio of refraction correction to curvature correction?

fafafEa 8 & srded & guR & gerdT & YR & g |t srgura «m 872



Options:

1) 1/4

2) 1/6

3) 1/7

4) 1/9

Correct Answer: 1/7

QID : 745 - Which of the following instrument is used for centering the theodolite in windy conditions?

frfafea 3 & i @ d= gar & fRfaat § RatEiarse @ Hfed e & forg s fEsar s 82

Options:

1)1 Cross staff

hig &It

2) Optical plummet
Tep1efia gt (e)

3) Optical square
yepiRie af

4) Spirit level
o (fB1e daer)

Correct Answer: Optical plummet

vepTefta Arget ()

QID : 746 - Which of the following test is used to make the line of sight perpendicular to the horizontal axis?

FafafEa 3 § fone odieror § Deres o gfE-Xar § &fasT siel il dead s o forg uai fora Sirar 82

Options:

1) Azimuth test

feter (arftfe) uteror
2) Cross hair ring test
hie gaR R adveror

3) Spire test

ST (TTSR) Treror

4) Vertical arc test
% 97T URYeToT

Correct Answer: Azimuth test

feier (srefifirer) oteror

QID : 747 - Which of the following statement is TRUE for the linear reservoir?

fr=fafaa & @ o= ar sy I Semm & fog aw @2

Options:

1) Storage is proportional to inflow discharge.

TUIg Sraaie Fdea & srrufaes 1

2) Storage is proportional to outflow discharge.

g & U g1

3) Storage is proportional to square of inflow discharge.
TUg Sraig fFdes & aif & ST &1

4) Storage is proportional to square of outflow discharge.
T afgate Fde o avf & smgufae &1

Correct Answer: Storage is proportional to outflow discharge.

T afeafs fde & smgurfae 31

QID : 748 - A 45 cm diametre well penetrates an unconfined aquifer of 30 m thick. Under the steady pumping rate for a long time, the drawdown'’s at two observation
wells 10 m and 20 m from the pumping well are 5 m and 3.5 m respectively. What will be the discharge (cubic metre), if the permeability of the aquifer is given as 20
m/day?

e 45 9ft a1 30 #Her it HYers & Teh ST Seteyd o A1 Ji<edt v © UART el &1 i GHY ok R uftht @r & ded, shEar: 5 Hiex 8k 3.5 Hier & gF sraeticn et @ dftit
STATae o & Sfaieh o 7 10 Hiex 3R 20 Hiex &1 3R Ser= & uRiar 20 Hiex / & & =0 # & 517t 8, af e (gfen Hier) ar gim?

Options:

1) 0.05

2) 0.067

3) 0.08

4) 1.12

Correct Answer: 0.08

QID : 749 - What will be the cant deficiency (cm), if maximum safe speed on a 5 Degree curve of a broad gauge track is 110 km/h and average speed of train is 85
km/h?

e | ft (ft) R gft, oFR e aaTues T ek Al 5 Rt ek R SrfdreRaw Rférd 1fd 110 foReft / wer gift ofik 271 i oftra nifar 85 fomeft / wier ghfi?
Options:



Correct Answer: 10

QID : 750 - What will be the shift of transition curve, if the length of transition curve is 80 m and radius of the curve is 300 m?

URITEA dh chl TTelt a7 B1TTT, SR UTRITHA dgh bl wiaTs 80 Hiex 3R aeh o fBwar 300 wfiex 82

Options:
1) 0.011
2) 0.78
3) 0.89
4) 21.33

Correct Answer: 0.89

QID : 751 - Design of a riveted joint, is based on the assumption

Raee S o1 fesTmg, aRom wR senRd &

Options:
1) Load is uniformly distributed among all the rivets

ot gt Rdew & fta T wu @ fafa forar man @

2) Shear stress on arivet is uniformly distributed over its gross area
Ree R Al & a1a 310 Terdt 85 IR I9H ¥ 8 faafa forar siram @

3) Bearing stress is uniform between the contact surfaces of the plate and the rivet
4) All option are correct
g ;

Correct Answer: All option are correct

g} ey Tl &

QID : 752 - Effective length of a column effectively held in position and restrained in directions at both ends is
mardt & @ fRAY § @ v ok g1 BRI wR fRdan § Hifda ue i Y gerreh <fers &

Options:

1)L

2) 0.67L

3) 0.85L

4) 15L

Correct Answer: 0.67 L

QID : 753 - The slenderness ratio of a column is zero when its length

ok T T TAUSAT ST [ BT &, ST 3! faTg
Options:

1) is zero

e

2) is equal to its radius of gyration

TR & 319 BT o SRR &

3) is supported on all sides throughout its length
Gt R S0 e F Tmiefa &
4) None of these

EEIEEG

Correct Answer: is supported on all sides throughout its length

gt TR o TS A gHida &

QID : 754 - Outstanding length of a compression member consisting of a channel is measured as

foret a1 B i) Uep Tdie Geg it Sepran eTS ol 39 dRE @ J1UT ST &

Options:

1) half of the nominal width

ATHATS AISTS T ST

2) nominal width of the section

ST Y AT ST

3) from the edge to the first row of rivets

4) None of these
EEEEIEE]

Correct Answer: nominal width of the section
STHTT Y AT Herd

QID : 755 - The equivalent axial load may be defined as the load which produces a stress equal to

TSR 31T R &l 7S & =T J GRUTT T ST ehdT & ST foh 59 sRTSR 9419 &l GeT T &



Options:
1) maximum stress produced by the eccentric load
fareretor YR gRT S S1fdehas a1
2) maximum stressed fiber
SfAehaH HIgeR W SR fear
3) bending stress
WR &drq
4) None of these
THIFE Tl
Correct Answer: maximum stress produced by the eccentric load
fITeT0T YR gRT IcU= HATYhad a=1a

QID : 756 - For the economical design of a combined footing to support two equal column loads the projections of beams in lower tier are kept such that bending
moment under column is equal to

3 SRR TN TS T GHYT T & felg Hgeh =R & 3nffen fESTme & forg et R & et ot SrgAm e ST 8, anfes & & 1k et Rt 8707 383k SRR &
Options:
1) bending moment at the center of the beam
<hl &7

2) half the bending moment at the center of the beam
1 & e H STTeT Sehn T &0
3) twice the bending moment at the center of the beam

he: 7 &) SR 3ol AT &1oT
4) None of these

T & IS T

Correct Answer: bending moment at the center of the beam

fte & e 3 g BT 0T

QID : 757 - A beam is defined as a structural member subjected to

Ueh 1 &l GRETcHS Ge & w0 § R forar Sran g, srd ag
Options:

1) axial loading

Jrefta AfsT

2) axial and transverse loading

Jaff iR srgeRy e

3) transverse loading

STTULY oTard

4) None of these

Correct Answer: transverse loading

S RULS RS HE]

QID : 758 - The gross section of the web of a beam is defined as

ek i Il 39 & Tohel TS I 39 ag I TR foham mar g

Options:
1) depth of the beam multiplied by its web thickness
o et @
2) width of the flange multiplied by its web thickness
Fenet gar fhrr Y <ers gueh a Aerd 4 o gt &
3) sum of the flange width and depth of the beam multiplied by the web thickness
AT Y eTs SR offe &t 18T et AT Al A Hierd @ Tom
4) None of these

T A IS T

Correct Answer: depth of the beam multiplied by its web thickness

i Y TeRTE 3R A9 Hierd & on et §

QID : 759 - The effective length L of a simply supported beam with ends restrained against torsion, and also the ends of compression flange partially restrained
against lateral bending is given by

Teh gufa fig it gt dard L, O AR wie & g nfadty wea 8, ofk uref gerra & e orifdes wu § nfaiedt dtes & R 3adk grifRg mo @

Options:

1) L=span

L = 3rafey

2) L=0.85span
L = 0.85 sr@fer
3) L=0.75span
L=0.75 s@fd
4) L=0.7 span
L=0.7 s@fa

Correct Answer: L= 0.85 span

L = 0.85 3rafd



QID : 760 - The connection of one beam to another beam by means of an angle at the bottom and an angle at the top, is known as

12 Ten IoT 3R <fif WR gep Rt F Gk i & gEst i ol e, 39 U F ST ST §

Options:
1) unstiffened seated connection

ety R Farm

2) stiffened seated connection
g gor R s

3) seated connection
R FaE

4) None of these
 ols Tol

Correct Answer: seated connection

R FRE

QID : 761 - Separation of water or water sand cement from a freshly mixed concrete is known

arst fAfAT shehie @ urt a1 urt & 39 Dde i 31T A Y 3T A I ST ST 8

Options:
1) bleeding
wAfET

2) creeping
shifthr

3) segregation
N EIC)

4) flooding
gaAfeT

Correct Answer: bleeding

QID : 762 - For road pavements, the cement generally used is

TEh & Peurd & Iy, STHAR 1R IuahT g areft Wide gidt &

Options:

1) ordinary Portland cement

FIYRY Uieaie Wie

2) rapid hardening cement
9 Tt 1

3) low heat cement

&Y a9 Wi

4) blast furnace slag cement
AT g T e

Correct Answer: rapid hardening cement

ot & T g arett e

QID : 763 - Hydration of cement is due to chemical action of water with

e o1 gT3SR, 3T UTHT Y I fohar 3 RO gl &

Options:

1) Tricalcium silicate and dicalcium silicate
¥ fAfedhe ok sgdhfrma

2) Dicalcium silicate and tricalcium aluminate

S fRrE Riferdhe ok cdhiReay

3) Tricalcium aluminate and tricalcium alumino ferrite
RIAH TgfHC 3R ZTEdhierraA SAfedHT

4) All option are correct

g} freT Tl &

Correct Answer: All option are correct

g} fqreg Tl &

QID : 764 - Internal friction between the ingredients of concrete, is decreased by using

Shehle &t Tt & offr sriafes eor, geeT AT IUNT shech R faRa ST FerdT &

Options:

1) less water

& g

2) fine aggregates

IR =TT

3) rich mix

g Ao

4) more water and coarse aggregates

e art 3R HeT T=aT

Correct Answer: more water and coarse aggregates

31fes urHt 8RR Her T=aT



QID : 765 - In a slump test, each layer of concrete is compacted by a steel rod 60 cm long and of 16 mm diameter for

TG G&T0T H, chehie dht Uheh URd bt 60 cm &%l 3R 16 mm 2T dhY Wil S gRT 39 oIy shidiae fohar Sirar &

Options:
1) 20times
209R

2) 25times
259R

3) 30times
309R

4) 40 times
40 times

Correct Answer: 25 times
259R

QID : 766 - To prevent segregation, the maximum height of placing concrete is

Options:

1) 100 cm
2) 125cm
3) 150 cm

4) 200 cm

Correct Answer: 150 cm

QID : 767 - The shuttering of a hall measuring 4 m x 5 m, can be removed after

4'm x 5m &I ATIA gt gieT T [IERIT, St 3Tk 915 | §edT ST Tehdl &
Options:

1) 5days

5%

2) 7 days
7Ra
3) 10 days
10 &7

4) 14 days
14 1=

Correct Answer: 7 days
7=

QID : 768 - For compacting plain concrete road surface of thickness less than 20 cm, we use

20 ¥ @ 7 HIeTE Y THTA S JSh! ol Gehd & [T, BH IUTNT et &

Options:
1) internal vibrator

2) screed vibrator
3) form vibrator

4) None of these
B EEEIEE]

Correct Answer: screed vibrator

hie amgster

QID : 769 - Pick up the correct statement from the following

1 3 ot T H ugAH AR

Options:

1)pConstruction joints in columns are provided a few cm below the junction of beam
ot & fwfor et ot | & SfarE @ B em i ve R smar @

2) Construction joints in columns are provided at the bottom haunching

e | fAmfor Sitet ot i g & e fohar siran &

3) Construction joint in beams and slabs are provided within middle third

1 ofk Wa 7 fmior Sifge 7o AR & offeR va fomar STar 8

4) All option are correct

g} g Tl &

Correct Answer: All option are correct

g} fAreu Tl &



QID : 770 - An excess of flaky particles in concrete aggregates

3 g § SifaRh tRaeR wonl &t giHT
Options:
1) decreases the workability

Frfefierar ge STt &

2) increases the quantity of water and sand
Y 3R 39 Y AT 9 STt

3) affects the durability of concrete

Shehle & TR et UTfad el &

4) All option are correct

g} e Tl &

Correct Answer: All option are correct

gt Qe Tl &

QID : 771 - For the construction of cement concrete dams, the maximum permissible size of the aggregates is

e chehte st & fAaToT & forg, Ieaa o Sifdehaw Wierd SR &

Options:
1) 40 mm

2) 50 mm
3) 60 mm

4) 70 mm

Correct Answer: 40 mm

QID : 772 - For given workability the grade requiring the least amount of water is one that gives

g g i & fog a8 3 52 &0 @ &7 urh Y sraacd gidt ag glar &, st 3T g

Options:

1) greatest surface area for the given cement and aggregates
g 1y e 3R Ty & g 9o ) gds &5

2) least surface area for the given cement and aggregates
Ty g T ofik Taw & o 9 © oA Tag e

3) least weight for the given cement and aggregates
fg My Tie ik e & fog &9 o

4) None of these

T A T

Correct Answer: least surface area for the given cement and aggregates

Ty g T ofik T=aw & o 9 © %A Tag e

QID : 773 - The type of aggregates of same nominal size, which contains less voids when compacted are

FHA AT SRR & T 1 TUGR, S sffdeae gi- R A faaie gid &
Options:
1) rounded spherical

d

2) irregular

3) flaky

TRASR

4) None of these

T8 A g T

Correct Answer: rounded spherical

d

QID : 774 - For quality control of Portland cement the test essentially done is

qéde Hide & uramr s & fag siffart wu @ v mar oderor &

Options:

1) setting time

TG ¥ AT

2) soundness

gl

3) tensile strength
dAdT dlehd

4) All option are correct
goft faerey Tt €

Correct Answer: All option are correct
goft ey Tt €



QID : 775 - Pick up the correct statement from the following

7 3 ot A H ugAH R

Options:
1) The percentage of voids in the aggregate after proper compaction is called the angularity number
T FE o I1G Fehdl § Reh T el UIASTd STTehet=T ST Shgl STl &
2) Angular aggregate are superior to rounded aggregate
ERRICEISICR
3) The surface texture depends upon the hardness, grain size, free structure and the structure of the rock
g TIIE HSRAT, ITST SATRR, Hh TN 3R UeaR i Teg=1 iR AR svear &
4) All option are correct
qoft ;

Correct Answer: All option are correct

gt ey T8t &

QID : 776 - No shrinkage occurs if the concrete is placed in a relative humidity of

IE Hehta T8 BIel 8, AR dhchic o1 WO ST (TS  <ar Sira &
Options:

Correct Answer: 1

QID : 777 - Argillaceous materials are those:

RSy arnft a5 gt &:

Options:
1) which have alumina as the main constituent

S R ek & T F Tegfaan §

2) which have lime as the main constituent

St T °9ech & EUH AT S

3) which evolve heat on the addition of water

it arft & @rem oR T e @

4) which easily break when hammered lightly
Y gYler g R+t srart @ ge sy

Correct Answer: which have alumina as the main constituent

St 7% ek & U |

QID : 778 - Spot the odd statement:

T § I8 U I UgIH R

Options:
1) rounded aggregate
Ty
2) irregular or partly rounded aggregate

SIfafea ar sifie w0 & e
3) angular flaky aggregate
URAGR et
4) single-size aggregate
Yehel-STeh R =
Correct Answer: single-size aggregate
YeheT-STeh R =

QID : 779 - If d and n are the effective depth and depth of the neutral axis respectively of a singly reinforced beam, the lever arm of the beam, is

afe d 3R n e & vafera e & shmer: deer sret ht TeRrE ok MeRTE &, Y i\ hr fter |ig @

Options:
1)d

2) n
3) d+n/3
4) d-n/3

Correct Answer: d-n/3

QID : 780 - Pick up the incorrect statement from the following. The intensity of horizontal shear stress at the elemental part of a beam section, is directly proportional
to

frfaf@a @ Toa gy gerd diF @ & T Wi § it saet a-ra G fear i g9 sgutfae gidt &


Nitin Saini
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Options:
1) shear force
feR areRa

2) area of the section

ST I &R

3) distance of the C.G. of the area from its neutral axis
CG &1 g & ol ey T &

4) moment of the beam section about its neutral axis
SHh! TCEYT 3 h TR A SfH SFTHFT & &707

Correct Answer: moment of the beam section about its neutral axis
SEh! TCEY 3 & TR A S STHFT & &707

QID : 781 - If the average bending stress is 6 kg/cm? for M 150 grade concrete, the length of embedment of a bar of diameter d according to I.S. 456 specifications is

Ife; S et &1 T M 150 IS dhehie 3 forg 6 kg/cm?2 €, dt IS 456 fafrearsil & SRR =a1d d & Teh IR &l SiTad= & wiars &
Options:
1) 28d
2) 38d
3) 48d
4) 58d

Correct Answer: 58 d

QID : 782 - A singly reinforced concrete beam of 25 cm width and 70 cm effective depth is provided with 18.75 cm? steel. If the modular ratio (m) is 15, the depth of
the neutral axis, is

Teh Yehel Hiferd chehle sl foraehl 25 et &t dierd ek 70 S8HieR woaret meRrs aht 18.75 cm? Tt & |1 Har foham SiraT @ afe; AfeseR Siqurd (m) 15 &, ot deeyr sfet Y e &
Options:
1) 20cm
2) 25cm
3) 30cm

4) 35cm

Correct Answer: 30 cm

QID : 783 - If the neutral axis of a Tbeam is below the slab, the relationship between the flange width B, depth of neutral axis n, thickness of the slab dg, effective
depth of the beam d, gross area of tensile steel A; and the modular ratio m may be stated as

IfE &1 T Jer g g F A g, dF ATt 91818 B, Te 3 Y TGRS n, TS I AIeTs dg , S I T TERTS d, IR S¥UT A T Hehel 815 SR AISgeR & g Jae SIgUTd m
I HET ST TehelT &

Options:

1) Bds (n - dg/2)=mAt(d+n)

2) Bdg (n + dg/2)=mAt(d - n)

3) Bdg (n-dg/2)=mAt(d - n)

4) None of these

T A HE T

Correct Answer: Bd (n - dg/2)=mAt(d - n)

QID : 784 - In a simply supported slab, alternate bars are curtailed at

U GeR iy gu @i , dofcen gomrdl ot 39 W &H o fear Sirar &
Options:

1) 1/4™ of the span
3ty & 1/4

2) 1/5% of the span
3afdy & 1/5

3) 1/6'™ of the span
i & 1/6

4) 1/7% of the span
QT Hl1/7-af

Correct Answer: 1/7!" of the span
@ &1 1/7-at

QID : 785 - In a slab, the pitch of the main reinforcement should not exceed its effective depth

e, T YAl & O S TeT TeRTE @ S1fes A g =iy



Options:
1) three times
GicH

T

2) four times

AR TAT

3) five times

RISRIGL

4) two times

QT

Correct Answer: three times

=

QID : 786 - In a combined footing if shear stress exceeds 5 kg/cm?, the nominal stirrups provided are

el a1 5 kg/cm? & 3iflieh g TR gk BieT &, ver & S arel) remn vy §

Options:
1) 6 legged
6 ™R

2) 8 legged
8wk
3) 10 legged
10®R
4) 12 legged
12®R

Correct Answer: 12 legged
12%®R

QID : 787 - To ensure that the hogging bending moment at two points of suspension of a pile of length L equals the sagging moment at its center, the distance of the
points of suspension from either end is

7 GRRE et 3 Forg b ot L a & 2 retor ah <) Rigafl ux YT ot oot &for, Sah g & AT et 3 arerat g &, el of ot @ et & Rig 1 gt 8

Options:
1) 0.107 L

2) 0.207L
3) 0.307L

4) 0.407L

Correct Answer: 0.207 L

QID : 788 - To have pressure wholly compressive under the base of a retaining wall if width b, the resultant of the weight of the wall and the pressure exerted by the
retained, earth should have eccentricity not more than

Ueh SR §H1Y T&H & SR TR T a<g § Sa19 ST & forg af erg b, SaR & aw & IRumRa®y 3R 3@ g gRT &a1d STl 911, |t gedt Sl vedife et 369 arfde 781 gi+t @nfgy

Options:
1) b/3

2) b/4
3) b/5
4) b/6

Correct Answer: b/6

QID : 789 - The ratio of the length and diameter of a simply supported uniform circular beam which experiences maximum bending stress equal to tensile stress due
to same load at its mid span is

Teh 9ad ¢ uRus i il dars SR e o SrquTd, St A Srafd F I i o hRUT IIdT a1 oh SRTeR STfAehdd e I-1d T 31T el &

Options:
1) 1/8

2) 1/4
3) 1/2
4) 1/3

Correct Answer: 1/2

QID : 790 - The ratio of the deflections of the free end of a cantilever due to an isolated load at 1/3rd and 2/3rd of the span is

1/ 3rd 3fR 2/ 3rd & 3id # Jueh 9R & SHRUT Sehe & Tehald o ST &7 Irgara



Options:
1) 1/7

2) 2/7
3) 3/7
4) 2/5
Correct Answer: 2/7

QID : 791 - A compound bar consists of two bars of equal length. Steel bar cross-section is 3500 mm?Z and that of brass bar is 3000 mmZ. These are subjected to a
compressive load 100,000 N. If E,=0.2 MN/mm? and Ep=0.1 MN/mm?, the stresses developed are

Teh e SR & THH oeTg & &) IR gl &1 et IR shig-der 3500 mm? & 3R 121 R 3000 mm? 1 & Y TR ¥R 100,000 N & 3ref &1 af2 Ep = 0.2 MN / mm?2 3R Ep, =
0.1 MN / mmZ, &t fRiefd g arert a-ma &

Options:

1) 0,=10 N/mm?2, 64=20 N/mm?

2) 0p=8 N/mm2, 64=16 N/mm?
3) 0p=6 N/mm2, 64=12 N/mm?
4) 0,=5N/mm2, 64=10 N/mm?
Correct Answer: No Correct Answer ( Benefit to all )

QID : 792 - The radius of gyration of rectangular section (depth D, width B) from a centroidal axis parallel to the width is

IIATHRR T (7833 D, TS B) & et T Uah Acasd 378l MR § & e §

Options:
1) D/2

2) D/V3
3) D/(2v3)
4) D/(4v3)

Correct Answer: D/(2v3)

QID : 793 -

For determining the force in AB of the truss shown
in the figure below by method of sections, the
section is made to pass through AB,AD and
EDand the moments are taken about

T 5 fafd grr i fag el HRag e &
AB, W 90 S1 FIURU 3 & o7, AB, AD 3

EDT Y UG P e g AR W ya e e ag §




Options:
1) jointC
Sfgc C

2) joint B
Sifse B

3) joint D
Sifge D

4) joint A
IEY
Correct Answer: joint D
Sifge D

QID : 794 -

The force in €D of the truss shown in the figure

Jfcanmead wewcen A RFAda s aa g

3¢

Options:

1) 3t compression
3t gdte

2) 3ttension
3tama

3) zero

S

4) 1.5t compression

1.5t 9dteT

Correct Answer: zero

LA

QID : 795 - A shaft rotating N.R.M. under a torque T, transmits a power of

Ueh AP U N.R.M | Teh 2Tch & & dgd, Ueh 01k TaTRd aheal &

Options:

1) TniN/30 Newton meters/sec
TrnN/30 =g ez /sec

2) TniN/30 Newton meters/min
TrN/30 =g #ex /min

3) TniN/60 Newton meters/min
TnN/60 =g #ex /min

4) TniN/60 Newton meters/sec
TrN/60 =g Hiex /sec

Correct Answer: TrtN/30 Newton meters/sec
TriN/30 =g Hiex /sec

QID : 796 - The greatest load which a spring can carry without getting permanently distorted is called

TG FgT 913 St WRft w0 G fagd g & fomn {8 gR1 & Smar ekan 8, 39 gl ST &

Options:
1) stiffness

2) proof resilience

qgd

3) proof stress
PeacEic)

4) proof load
T YR



Correct Answer: proof load

T IR

QID : 797 - In case of a simply supported | — section beam of span L and loaded with a central load W, the length of elasto-plastic zone of the plastic hinge is

A L o1 A |-3rgmT i & Al 7 SR Shala ds W & a1 @S fohat ST 8, WiTieen fest & Selel-wTfeeh &5 ol &alTs o
Options:

1) L/2

2) /3

3) L/4

4 L/5

Correct Answer: No Correct Answer ( Benefit to all )

QID : 798 - The horizontal thrust on the ends of a two-hinged semicircular arch of radius R carrying

frsar R & S aret Q- aret Siager SfTe & R R &fist a8 & 51 &

Options:

1)Pa uniformly distributed load w per unit run over its right half span is (2/3)* (WR/m)

Yo 99 &9 § AR 9R v 3 g o1 e1fg= smem @ € (2/3) * (WR / 1)

2) a uniformly distributed load w per unit run over its entire span is (4/3)* (WR/m)

Ueh GAM &Y ¥ faaRd ¥R ufd 3 9am i R @ & w (4/3) * (WR / 1)

3) adistributed load varying from zero at the left end to w per unit horizontal run at the right end, is (2/3)* (WR/m)
13 3R ¥ Y 9§ o FAaRa R srerr-srer &fast 7 ufd gfe S SRR 8, (2/3) * (WR / 1)

4) All option are correct

gt ey T8t &

Correct Answer: All option are correct
goft ooy Tt €

QID : 799 - If a three-hinged parabolic arch, (span |, rise h) is carrying a uniformly distributed load w/unit length over the entire span,

g% -t g dxraifores o, (9 1, agd h) R RaR wR 9919 w0 @ faafka ¥R w / gfie &erd aar & a,
Options:

1) horizontal thrust is (wl2)/8h

T Sk (wi?) / 8h &

2) Shear Force will be zero throughout

AR T R g7 & SR 3 8 Sem

3) Bending Moment will be zero throughout

e Ul MR A L g S

4) All option are correct

goft 4

Correct Answer: No Correct Answer ( Benefit to all )
QID : 800 - The equivalent length of a column of length L having both the end fixed is

L SIS 3 ek chieTH dhY SRTaR oTvaiTs forerehl &l €t ofd R &

Options:
1) 2L

2L
3) L/2
4) L/V2

Correct Answer: L/2





